Efficiency vs dr

0.5
0.45

efficiency vs AR
=}
D

©
O w
w

0.25

0 I L a U
2 I [—— DQM_V0001_R000000001__Global__cmssw1000time _RECO
g 4" "| —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
[ | —— DQM_V0001_R000000001__Global__mkFitNewBinsDC1000time_ RECO

i

1
TP min AR

L,

[ Efficiency vs dr (track,jet) |
§0.05
n0.045
=
o
<]0.04
9.035
>
20.03
Q
:-'=0.025
3]
0.02
0.015
0.0
0.005
0
2

Ratio

15

1

-1

5 0.2¢
o r
n 0.

>

>

(8]

c

(]
50.14
®0.12
fe!

I

o

Pileup



	Contents
	Page 1


